AR

WAl LRz

BERI LA BIREE | ET

JE4E 4 E3 ] ERABA000) |#BEIESL JIE 4L 4 E3] RIERA000) |#HEIELL
ELd@ B 100.0 7 2 B 100.0 13
2l =—— B 98.2 2 fIXehk—ILT AT R Al ARER 100.0 =
3| H I & MERT B 96.4 10 JI=FF B 98.4 12
JELEE b 96.4 26 JFAXVITE B 98.4 16
3|FA A S S 96.4 27 3|FA R & 98.4 27
6|32 B 945 13 S| RREER B 98.4 76
NFAxITE B 92.7 16 EE EE 98.4 81
7| B A& mEE 92.7 19 JERILITE JLES 98.4 109
NAFY=—wIET B 92.7 24 EEIEEIES Bk AR 96.8 1
NEFEBER—ILTAUIR REEE 92.7 — oly=— B 96.8 2

o/ N\ FV=vy EXER 96.8 3
97k S Ebeazki 2 96.8 5
o| HIr & MERT B 96.8 10

B EHA+ESHIEA WEAFE )

JIE 45z 4 e s +iataaco| BEIELL JIE 45z 4 e B TE S 515 S(300) | #2 & AL
1A A S S 100.0 27 EXE DA R 289.0 129
TAY V) B 98.1 3 |ER A HERTR Bz 287.7 66
ELTANLEF—ILT1T R 1L 98.1 4 JHHEERTE EXR 283.6 37
2|1+ =—whHET A 98.1 24 YT ATSREIEE EXR 2815 29
5|V =— B 97.2 2 5|INTTRIE B BEX 279.9 25
5[~ v—7F ESE 97.2 9 NEEISEIED Bk TSR 279.0 1
5|UXTR—ILT1 T R BR-BxrEHm 97.2 — Ev/v B 278.8 20
8|Ettrovs X BB 96.3 11 8l{EbF T X 4= 276.9 69
8|NEC B 96.3 13 IEATIETE ERBIEE 276.3 63
8|EZ B 96.3 13 10|KDDI Bl -BIEE 270.7 33
8|7HEE—IL BH &R 96.3 15
8| B A& mEE 96.3 19




